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NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 20 (30.11.2024)    20x4=80 MARKS 

 

Botany: Plant Kingdom, Zoology: Locomotion & Movement 

Chemistry: Amines, Physics: Electromagnetic Induction 

 

1. Air bladder is found in the fronds of 

1) Chara 

2) Polysiphonia 

3) Fucus 

4) Porphyra 

 

2. Select the incorrect match from the following 

1) Brown algae – Algin 

2) Sargassum - Used as food by space travellers 

3) Gracilaria - Agar 

4) Red algae - Carrageen 

 

3. Cell wall of Chlorophyceae members is composed 

of 

1) Cellulose and algin 

2) Pectin and polysulphate esters 

3) Cellulose and pectose 

4) Cellulose, pectin and polysulphate esters 

 

4. Select the incorrect statement w.r.t. bryophytes. 

1) They produce spores 

2) They lack true roots 

3) They lack vascular tissue 

4) Their sporophyte is free-living 

 

5. Strobilus is found in 

1) Dryopteris and Pteris 

2) Funaria and Salvinia 

3) Azolla and Selaginella 

4) Equisetum and Selaginella 

 

6. The collar bone is known is 

1) Scapula 

2) Coracoid 

3) Stapes 

4) Clavicle 

 

1. fhw;Wg;ig ,jd; ,iy Nghd;w mikg;Gfspy; 
fhzg;gLk; 
1) rhuh 
2) ghyprp/Nghdpah 
3) /Gf]; 
4) Nghu;gpuh 

 

2. gpd;tUtdtw;wpypUe;J jtwhd nghUj;jj;ijj; 
Nju;e;njLf;fTk; 
1) gOg;G ghrp - my;[pd; 
2) ru;fhrk; - tpz;ntspg; gazpfshy; 

czthfg; gad;gLj;jg;gLfpwJ 

3) fpNurpNyupah - mfu; 
4) rptg;G ghrp - Nfu[Pd; 

 

3. Chlorophyceae cWg;gpdu;fspd; nry; Rtu; 
,jid nfhz;lJ 

1) nry;YNyh]; kw;Wk; my;[pd; 
2) ngf;bd; kw;Wk; ghypry;Ngl; v];lu;fs; 
3) nry;YNyh]; kw;Wk; ngf;Nlh]; 
4) nry;YNyh];> ngf;bd; kw;Wk; ghypry;Ngl; 

v];lu;fs; 
 

4. gpiuNahigl;Lfs; gw;wp jtwhd $w;iwj; 
Nju;e;njLf;fTk; 
1) mit tpj;Jfis cw;gj;jp nra;fpd;wd 

2) mitfSf;F cz;ikahd Ntu;fs; ,y;iy 

3) mitfSf;F th];Fyu; jpR ,y;iy 

4) mitfspd; ];NghNuh/igl; jd;dpr;irahf 
tho;fpwJ 

 

5. ];l;Nuhgpy]; fhzg;gLtJ 

1) Dryopteris kw;Wk; Pteris 

2) /Gdhupah kw;Wk; rhy;tpdpah 
3) mNrhyh kw;Wk; nryfpndy;yh 
4) Equisetum kw;Wk; Selaginella 

 

6. fOj;Jg;gl;il vYk;G ,t;thW 
miof;fg;gLfpwJ 

1) if vYk;G 

2) Nfhuf;fha;L 

3) ];Nlg]; 
4) fhiu vYk;G 
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7. The contractile protein of skeletal muscle 

involving ATPase activity is 

1) Myosin 

2) Actin 

3) Actinin 

4) Troponin 

 

8. Identify wrong statement. 

1) Ciliary movement helps in the swimming of 

spermatozoa 

2) Flagellar movement helps in maintenance of 

water current in the canal system of sponges 

3) About 40 - 50% of the body weight of human 

adult is contributed by muscles 

4) both 1 and 3 

 

9. Match the following. 

A) Myasthenia gravis i) Accumulation of uric 

acid 

B) Gout ii) Fragile bones 

C) Osteoporosis iii) Muscle spasms 

D) Tetany iv) Neuromuscular 

junction is affected 

1) A-i, B-ii, C-iii, D-iv 

2) A-i, B-iii, C-ii, D-iv 

3) A-iv, B-i, C-ii, D-iii 

4) A-ii, B-iii, C-iv, D-i 

 

10. During contraction of muscle 

1) H-zone size is reduced 

2) A-band size is reduced 

3) thick filaments size is reduced 

4) sarcomere size is increased 

 

11. Hybridisation of nitrogen in pyridine 

1) sp 

2) sp2 

3) sp3 

4) sp3d 

 

12. 1º aromatic amines prepared by 

1) From nitrobenzene 

2) Hoffmann bromamide reaction 

3) Both 1 and 2 

4) Reduction of phenyl isocyanide 

 

13. Which of the following is less basic? 

1) Ph–NH2 

2) Ph–NH–Ph 

3) NH3 

4) CH3CH2NH2 

 

7. vYk;G jir RUf;f Gujk; ATPase nraypy; ,q;F 
gq;FngWfpwJ 

1) ikNahrpd; 
2) Mf;bd; 
3) Mf;bdpd; 
4) l;NuhNghdpd; 

 

8. jtwhd $w;iw milahsk; fhzTk;. 
1) FWapio ,af;fk; tpe;jZtpd; ePr;rYf;F 

cjTfpwJ 

2) firapio ,af;fk; flw;ghrpfspd; fhy;tha; 
mikg;gpy; ePu; kpd;Ndhl;lj;ij guhkupf;f 
cjTfpwJ 

3) Kjph;e;j kdpjdpd; cly; vilapy; Rkhu; 40 - 

50% jirfshy; ngwg;gLfpwJ 

4) 1 kw;Wk; 3 ,uz;Lk; 
 

9. gpd;tUtdtw;iwg; nghUj;jTk;. 
A) ka];jPdpah 
fpuhtp]; 

i) A+upf; mkpyk; Ftpjy; 

B) fPy;thjk; ii) cilaf;$ba 
vYk;Gfs; 

C) 
M];bNahNghNuhrp]; 

iii) jirg;gpbg;G 

D) nll;ldp iv) euk;Gj;jir re;jpg;G 
ghjpf;fg;gLfpwJ 

1) A-i, B-ii, C-iii, D-iv 

2) A-i, B-iii, C-ii, D-iv 

3) A-iv, B-i, C-ii, D-iii 

4) A-ii, B-iii, C-iv, D-i 

 

10. jir RUf;fj;jpd; NghJ 

1) H-kz;ly msT Fiwf;fg;gl;lJ 

2) A-fw;iw msT Fiwf;fg;gl;lJ 

3) jbkdhd ,iofspd; msT 
Fiwf;fg;gLfpwJ 

4) ru;Nfhkpau; msT mjpfupj;Js;sJ 

 

11. igupbdpy; iel;u[d;fspd; ,df;fyg;G 

1) sp 

2) sp2 

3) sp3 

4) sp3d 

 

12. 1º mNuhNkl;bf; mkpd;fs; vjpypUe;J 
jahupf;fg;gLfpd;wJ? 
1) iel;Nuhngd;rPdpy; ,Ue;J 

2) `h/g;Nkd; GNuhikL tpid 

3) 1 kw;Wk; 2 ,uz;Lk; 
4) gPidy; INrhraidL Fiwg;G 

 

13. gpd;tUtdtw;wpy; vJ Fiwthd fhuk;? 

1) Ph–NH2 

2) Ph–NH–Ph 

3) NH3 

4) CH3CH2NH2 
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14. Electrophile in carbylamine test 

1) Dichloro carbene 

2) Carbocation 

3) Carbanion 

4) Carbon free radical 

 

15.  

  
Br2

CH3COOH ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ Major product is 

1)  

2)  

3)   

4)  

 

16. A conducting rod of length l is rotating with 

constant angular velocity ω about point O in a 

uniform magnetic field B as shown in the figure. 

The emf induced between ends P and Q will be 

 
1) 1/4 Bωl2 

2) 5/10 Bωl2 

3) zero 

4) 1/2 Bωl2 

14. fhu;igyikd; Nrhjidapy; vyf;l;uhd; fth; 
nghUs; vJ? 
1) ilFNshNuh fhu;gd; 
2) fhu;gd; Neuadp 
3) fhu;gd; vjpuadp 
4) fhu;gd; jdpcWg;G 

 

15.  

  
Br2

CH3COOH ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ Major product is 

1)  

2)  

3)   

4)  

 

16. l ePsKs;s xU flj;Jk; fk;gpahdJ> glj;jpy; 
fhl;lg;gl;Ls;sgb> B rPuhd fhe;jg;Gyj;jpy; 
Gs;sp O Ig; gw;wpa epiyahd Nfhzj; 
jpirNtfj;Jld; ω Roy;fpwJ. Kidfs; P 

kw;Wk; Q ,ilNa J}z;lg;gl;l 
kpd;dpaf;Ftpir 

 
1) 1/4 Bωl2 

2) 5/10 Bωl2 

3) zero 

4) 1/2 Bωl2 
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17. What is the self inductance of a system of coaxial 

cables carrying current in opposite directions as 

shown? Their radii are 'a' and 'b' respectively. 

 

1) 
μ0𝑙

2π
 In (ab) 

2) 
μ0𝑙

4π
 In (

b

a
) 

3) 
μ0𝑙

2π
 In (

a

b
) 

4) 
μ0𝑙

2π
 In (

b

a
) 

 

18. A rectangular loop of sides of length l and b is 

placed in x–y plane. A uniform but time varying 

magnetic field of strength B⃗⃗  = 20tî + 10t2ĵ + 50k̂ 

where t is time elapsed. The magnitude of 

induced e.mf at time t is: 

1) 20 + 20 t 

2) 20 

3) 20 t 

4) zero 

 

19. A conducting rod ab mass m can slider over two 

long frictionless conducting rails separated by 

distance l. The arrangement is kept in a uniform, 

inward magnetic field B. At time t = 0, the rod is 

given velocity V0 towards right. The distance 

covered by the rod till its velocity becomes V0 /2, 

is 

 

1) 
mV0R

4B2𝑙2
 

2) 
3

4

mV0R

B2𝑙2
 

3) 
mV0R

2B2𝑙2
 

4) 
2mV0R

B2𝑙2
 

 

17. glj;jpy; fhl;lg;gl;Ls;sgb vjpu; jpirfspy; 
kpd;Ndhl;lj;ij nfhz;L nry;Yk; xNu; mr;rpy; 
mike;j fk;gpRUs; mikg;gpd; jd; 
kpd;J}z;ly; vd;d? mtw;wpd; Muq;fs; KiwNa 

'a' kw;Wk; 'b' 

 

1) 
μ0𝑙

2π
 In (ab) 

2) 
μ0𝑙

4π
 In (

b

a
) 

3) 
μ0𝑙

2π
 In (

a

b
) 

4) 
μ0𝑙

2π
 In (

b

a
) 

 

18. ePsk; l kw;Wk; b gf;fq;fspd; xU nrt;tf 

tisak; x-y jsj;jpy; itf;fg;gLfpwJ. xU 
rPuhd Mdhy; Neuk; khWgLk; typik nfhz;l 

fhe;jg;Gyk; B⃗⃗  = 20tî + 10t2ĵ + 50k̂ ,q;F t Neuk; 
fope;jJ. t Neuj;jpy; J}z;lg;gl;l 
kpd;dpaf;Ftpirapd; msT 

1) 20 + 20 t 

2) 20 

3) 20 t 

4) zero 
 

19. xU flj;Jk; jz;L ab epiw m njhiyT l My; 
gpupf;fg;gl;l ,uz;L ePz;l cuha;T ,y;yhj 

flj;Jk; jz;lthsq;fs; kPJ rWf;FfpwJ. ,e;j 

Vw;ghL rPuhd> cs;Nehf;fp fhe;jg;Gyk; B. t = 0 

Neuj;jpy;> fk;gpf;F tyg;Gwk; V0 Ntfk; 
nfhLf;fg;gLfpwJ. mjd; Ntfk; V0/2 Mf 
,Uf;Fk; tiu fk;gp flf;Fk; J}uk; 

 

1) 
mV0R

4B2𝑙2
 

2) 
3

4

mV0R

B2𝑙2
 

3) 
mV0R

2B2𝑙2
 

4) 
2mV0R

B2𝑙2
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20. The magnetic field in a region is given by 

 B = B0 (
x

a
) k̂. A square loop of side d is placed 

with Its edges parallel to the x and y axes and is 

with a constant velocity V⃗⃗  = v0𝑖̂. The emf induced 

in The loop is 

 

1) 
B0v0d

2

a
 

2) 
B0v0d

2

2a
 

3) 
B0v0a

2

d
 

4) zero 

 

 

20. xU gFjpapy; cs;s fhe;jg;Gyk; B = B0 (
x

a
) k̂ 

My; toq;fg;gLfpwJ. d gf;fj;jpd; xU rJu 
tisak; mjd; tpspk;GfSld; x kw;Wk; y 
mr;RfSf;F ,izahf itf;fg;gLfpwJ 

kw;Wk; V⃗⃗  = v0𝑖̂ vd;w epiyahd Ntfj;Jld; 
,Uf;Fk;. Rw;wpy; J}z;lg;gl;l kpd;dpaf;Ftpir 
vd;gJ 

 

1) 
B0v0d

2

a
 

2) 
B0v0d

2

2a
 

3) 
B0v0a

2

d
 

4) zero 

 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

..

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


1 

 

NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 20 (30.11.2024)    20x4=80 MARKS 

 

Botany: Plant Kingdom, Zoology: Locomotion & Movement 

Chemistry: Amines, Physics: Electromagnetic Induction 

 

Solutions 

 

1. Answer: (3) 

2. Answer: (2) 

3. Answer: (3) 

4. Answer: (4) 

5. Answer: (4) 

6. Answer: (4) 

7. Answer: (1) 

8. Answer: (1) 

9. Answer: (3) 

10. Answer: (1) 

 

11. Answer: (2) 

12. Answer: (3) 

(1) and (2) gives aromatic primary amines 

 

13. Answer: (2) 

Aryl amines are less basic. 

 

14. Answer: (1) 

15. Answer: (2) 

16. Answer: (1) 

17. Answer: (4) 

The 'B' between the space of the cables is   

B = 
μ0I

2πr
 

18. Answer: (4) 

N

sp2
 

CHCl3 
NaOH
→ C

Cl

Cl

 

 

3 /4

2

/4

1
B xdx B

4

   
l

l

l  

 

0I
d dr

2 r





l  

 

b

0 0

a

I I1 b
dr .ln

2 r r 2 a

 
 

 
l l

 

0 b
L ln

I 2 a

       

l
 

ˆA bk
�

B 20ti 10t j 50k  
�

 

 Magnetic flux is  = B.A
��

=  50 lb  

 emf = 
d

dt


= 0 

 The area vector of loop 

Ampere's law tells that 'B' outside the cables is 

zero, as the net current through the amperian 

loop would be zero. 

Taking an element of length l and thickness 'dr', 

the magnetic flux through it is  
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20. Answer: (1) 

 

AB 0 0

x
e B dv

a

   
 

 

DC 0 0

x d
e B dv

a

   
 

 

= eDC – eAB = 
2

0 0
0 0

B v dd
B .dv

a a
  

19. Answer: (3) 

dv B v
mv B

ds R


l
l  

 

0

0

V

s 2 22

V 0

B
mdv ds

R
  

l
 

 
2 2

0V B
m s

2 R

l

 

 
0

2 2

mV R
s

2B


l
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